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Which of the following is true about ozone?
A — It is formed by the action of infrared
radiation
B - It is formed by the action of
ultraviolet rays
C — It is formed in the troposphere
D — It allows most harmful radiation to

reach Earth’s surface
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The acceptable value for body mass is 15.63 kg.
What correctly describes the experimental data in
the table?

A — Accurate but not precise

B — Precise but not accurate

C — Not Accurate or precise

D — Accurate and precise

Experiment | Measurement okl 4 )
1 12.84 kg 12.84 kg 1
2 13.02 kg 13.02 ke 2
3 12.96 ke 12.96 kg 3
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What explains the deflection of some alpha

particles at large angles when a beam of alpha

particles bombarded a thin gold foil?

A — Most of the mass of an atom is contained in

the nucleus

B — An atom consists mostly of empty space

C — All positive charge is contained in the

nucleus

D — All negative charge is contained in the nucleus
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What correctly describes either of the waves (1) or
(2) in the figure below?
A — Wave (1) has a shorter wavelength and
a higher frequency
B — Wave (1) has a longer wavelength and
a lower frequency
C —Wave (2) has a shorter wavelength and a lower
frequency

D — Wave (2) has a longer wavelength and
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A blue light of wavelength 8.4 x 107 nm emits. . (8.4 x105nm) o> soll 4l gha G0l ¢ gea Ly

How much energy does one photon ofthis light T guall 138 el g g g leleny Il A3UN 3.
carry? (h=6.626 x10-3* J.g <l =)
(Planck’s constant h = 6.626 x10-4 I.s) (c=3.00 X108 m/s ¢ pall de 4u)

(The speed of light ¢ = 3.00 x10% m/s)

A-24x1027 2.4x1027-A
B-1.7x10-1#7 1.7x10¥J-B
C—14x1017 1.4x101BJ-C
D-1.1x1017 1.1x10°#J-D

Which of the following is true regarding to the ) e . -
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orbitals shown in the figure below?

A— The p— orbitals
P =l gl DU — A
B — The s— orbitals
8 =l il DU - B
C — The d- orbitals
d =l gl DSl - C
D — The - orbitals
f ol gl DA — D




Which of the following data is quantitative?

A — Color
B — Odor
C — Feels
D — Speed
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Which of the following statements is true for the line

graphs in the figure below?

A — The mass decreases with increasing volume

B — The mass increases with the increase in size

G — The relationship between mass and volume is
inverse

D — The slope of the line is not constant

Density of Aluminum

(20.0 cm?_ 54 g)

Mass (g)

A 5!
(10,0 cm*127 g)
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Which of the following is a derived unit?

A — Cubic meter (m:‘]
B — Second {5)
C — Kilogram (kg]

D — Meter (m)
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What is the correct scientific notation for the

measurement 450000 m?

A—450 % 10°m
B-45x=10*m
C—-4.5=x10°m

D-0.45x10°m

450 x 10° m - A
45 x 10°m - B
4.5 10°m-C

0.45 x 10°m-D

What is the series of emitted rays correspond to
electrons dropping from a higher—-energy orbit o the
energy orbit (n = 3)?

A — The X — rays series (Elracketl}

B — The ultraviolet series (Lyman)

C — The visible series (Balmer}__

D — The infrared (Paschen) series
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What do we call a tentative, testable statement

or prediction about that has been observed?

A — Conclusion

B — A hypothesis

C — A theory

D— A control
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Which precautions should you take when you
see this symbol?

A — Wear heat-resistant gloves

B — Do not touch the broken glass

C — Wear protective clothing

D — Wash your hands after the experiment
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The accepted value for the length of a science
book is 32.50 cm. If the student's
measurement is 33.30 cm. What is the
percentage of error?

A—(-4.25 %)

B —(1.75 %)

C — (- 0.597 %)

D — (2.46 %)

elaall fogidl 2o L . 33.30 om g Al i3

(- 4.25% )—A
(1.75 %) - B
(-0.597%) —C

(2.46 % ) - D

The deflection of the cathode rays towards the
positively charged plate in the electric field
indicates that it is composed of ...................
A — Positively charged protons

B — Negatively charged protons

C — Positively charged electrons

D — Negatively charged electrons

Electrically
charged plates
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Which branch of chemistry studies the most
carbon — containing chemicals?

A — Organic chemistry

B — Biochemistry

C — Thermochemistry

D — Analytical chemistry

o Al Meall alaea opn 53 cliesll g4 Lo
£0900S S

Liguiaall Jlasll - A

Zigall JLesll - B

Lhall flasll - C

Adatl (Lol - D

What is the density of the cube
substance shown in the figure below?

A — 1080 gfcm*

B — 102 g/ecm® "}

C — 78 g/cm®
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Who is the scientist whose theory states that

different atoms combine in simple whole-

number ratios to form compounds?

A — Aristotle

B — Democritus

C — Dalton

D — Thomson
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Using the data in the table below, what is the
value of X and Y, which equals to the number
of neutrons in each isotope?

A—(£=30 .Y =34)

B-(X=34 ,Y=36)

G X=07 . Y=947

D-(X=94 ,Y=92)
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(Y=34; X=36 )—A
(Y=365 X=34 )-B
(Y=945X=92)-C

(Y=92,5X=-94)-D
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What correctly describes an alpha particle?

A — It is a negatively charged electron

B — It is deflected towards the positive plate of
an electric field

 — It is a high energy radiation that has no
mass

D — It contains two protons and two neutrons
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